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1. Candidate must write his/her Roll Number on the first page of the Question
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2. Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

4. Write your Question Paper Code No. 67/TUS/2, Set [A] on the Answer-Book.

5. (a) The Question Paper is in English/Hindi medium only. However, if you
wish, you can answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the
question will be yours only.
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Note : (i)
(i1)

(iid)

(i)

(iid)

This Question Paper consists of 43 questions.

All questions are compulsory. Write your answers in Answer-Book.
Marks are given against each question.

Section-A consists of Question Nos. 1 to 16—Multiple-choice type
questions (MCQs) carrying 1 mark each. Select and write the most
appropriate option out of the four options given in each of these questions.
Internal choices have been provided in some of these questions. You have
to attempt only one of the given choices in such questions.

Section-B consists of Question Nos. 17 to 28—Objective-type questions
carring 2 marks (with 2 sub-parts of 1 mark each). Attempt these
questions as per the instructions given for each of the questions.
Section-C consists of Question Nos. 29 to 37—Very short answer-type
questions carrying 2 marks each to be answered in the range of 30 to 50
words. Internal choices have been provided in some of these questions.
You have to attempt only one of the given choices in such questions.

Section-D consists of Question Nos. 38 to 41—Short answer-type
questions carrying 3 marks each to be answered in the range of 50 to 80
words. Internal choices have been provided in some of these questions.
You have to attempt only one of the given choices in such questions.

Section-E consists of Question Nos. 42 and 43—Long answer-type
questions carrying 5 marks each to be answered in the range of 80 to 120
words. Internal choices have been provided in some of these questions.
You have to attempt only one of the given choices in such questions.

39 IH-UF ¥ FoA 43 T B

At g SAfEr 8| 3% IW IW-gfEaen § fafaw

Tk U3 % 3ieh 36h HHH SNIY MU |

WUE-F Y HET 1 ¥ 16 T Ig-fahedl TR (MCQ) & T &1 Yk Yo 1 37
B feu U = foenedi # & @ @i foehed o 3T % w9 o fafay) oo gw i 4 st
ooy few 1w 81 319en! 398 ¥ had TH T H1 IR oG B

WU Y3 T 17 8 28 TEE TR & T 8| Tieh I 2 37ehi 1 & (e I |
1 37 o @ 3UITT &) | Teu T STHEmgar sl & W fafau)

WU YT T&IT 29 ¥ 37 qF % T [ HH-ITT T | TAh T 2 3! H 8,
fSrept ST M 30 W 50 WSGT T & Hehdl 2| $® I § 3Midleh foeheq feu mu #)
AT ITH T hael Ueh T3 ol I o1& 2|

WUE-4 I3 GE 38 U 41 I g-300T I 2| IAF I 3 Iehi 1 B, T9@eh I
ST 50 | 80 oGl T & Thdl 2| B T H 3Tidiieh fashed feu 7w &) 3nmueh! 370 &
haol Ueh Y I I To1@ T 2|
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WUS-F Y3 &A1 42 T 43 SE-3ITT I 8| Tdeh T 5 37hi 1 81 I 80 & 120
Iea] <1 Bl Tehdl | B U H 3iaiieh fohed feu U 8| 31Ukl ITH H Shelel Uk I HI

S ot 2|

Section-A : (Question Nos. 1 to 16) 8 questions with internal choice-
means 16+8 questions

Section-B : (Question Nos. 17 to 28) no internal choice-
means 12 questions

Section-C : (Question Nos. 29 to 37) 4 questions with internal choice-
means 9+4 questions

Section-D : (Question Nos. 38 to 41) 2 questions with internal choice-
means 4+2 questions

Section-E : (Question Nos. 42 and 43) 2 questions with internal choice-

means 2+2 questions

Total No. of Internal choice = 16

e p
(1) Answers of all questions are to be given in the Answer-Book given to you.

aft yEl % I IR & S IW-Yfahr A7 & ford|
(2) 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the

students will read the question paper only and will not write any answer on
the Answer-Book during this period.

3 TH-UF I TG4 & U 15 e &1 g9F feanr T 81 WE-F 1 faar guet H
2:15 o1 foham ST Qe 2:15 &9 § 2:30 S deh B el Y-UF ol Tei IR
39 A % N o IW-TEAhl T DIy W a8l fore|

SECTION-A
Eus—<h

Note : Question Nos. 1 to 16 consist of multiple-choice type questions (MCQs)
carrying I mark each.

FEw : WA "o 1 ¥ 16 T Sg-Tfoshedl T4 (MCQ) &1 I WA 1 37 1 &l

1. Name of the technique used for detecting genetic disorders in a foetus is

(A) amniocentesis (B) ultrasound

(C) X-ray (D) MRI 1
YOI H SAHARh qehii I Uga Har e Hl AM 7

(A) Scaded (TEHAE=RE) (B) 3TeLTEIRUE

(C) X-femtm (D) THo 3Ro 3MHo
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2. Which of the following makes up the final trophic level in a food chain? 1

(A) Parasite (B) Producer
(C) Decomposer (D) Carnivore
frfafga & & sH-a1 et W @@ s@en & SAfaw T R w1 i s 8 e
(A) oS (B) 3IcIEH
(C) IueHh (D) wERH
Or / 37941

What does the following sequence represent?
Blue-green algae — Crustose lichens — Foliose lichens

l

Dicotyledonous trees <« Shrubs < Mosses
(A) Genetic drift (B) Ecological succession
(C) A food pyramid (D) Phylogenetic trend

fafafaa sgen @ frefua wear &7
et & STt — T S (ATEH) —> T (k)

l
oSt 997 « sfear « ar|
(A) ales fogem (RAfes fewe) (B) wriifeufaess Srgshmur

(C) T @@ fuufie (D) Sfeeer s

3. The largest lymphoid organ in the human body is

(A) bone marrow (B) thymus
(C) adrenal (D) spleen 1
g IKR T TEE 1 AR T 7
(A) e T (B) «rsHH
(C) wifgs (THw) (D) el
Or / 37941
The condition caused due to oversecretion of thyroxine is
(A) goitre (B) hyperthyroidism
(C) cretenism (D) myxoedema
R % HATqEeT % U BHeTel @u B
(A) TTerTUg (B) 3rag Afcfsharam
(C) Iragam™AdT (D) TufeaEim
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4. Cephalothorax is a characteristic feature present in the phylum

(A) Echinodermata (B) Mollusca
(C) Arthropoda (D) Annelida 1
foRae sifierem fpe wreem # e ST #7
(A) THRErEHTeT (B) T
(C) smardreT (D) Tferer
Or / 39a1

Heart is three-chambered in reptiles. But a partially divided ventricle
(i.e., four-chambered heart) is present in

(A) salamander (B) frog
(C) snake (D) crocodile

Tt o ged da-wef gar 8 b a1l w9 @ fowifoa fromr (sm-sefa ze) &
E

() Temizw § (B) Hew H

(C) &d H (D) wRE=s H

5. When both male and female flowers are present on the same plant, the plant
is said to be

(A) wunisexual (B) monoecious
(C) dioecious (D) bisexual 1
S§ T gST q9T HiGl 97 U g WY W 9N A4 &, d U" d9idl @l hEd @
(A) TeRferlT (B) TehiomTiarRit
(C) fafermerh (D) fefert
6. Excessive intake of iron in diet causes
(A) scurvy (B) hypervitaminosis
(C) anaemia (D) hemosiderosis 1
AER U g (3RRA) o 3TcAfeeh Tad & INummeasy gidl 2
(A) e (B) fafererfia
(C) THIcHar () (D) ¥ H wig o H1 FHE
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7. A broad-spectrum antibiotic, used against pathogenic bacteria, is
(A) penicillin (B) paracetamol

(C) erythromycin (D) streptomycin

UM (IATSh) Sfiam] & foeg ST fm IR amenm =muss @een wfosifoss
(Uamatiess) @

(A) UffEReH (B) vIRerr
() TR (D) EemrEfE
8. A cross between the F; progeny and the homozygous recessive parent is
known as
(A) test cross (B) dihybrid cross
(C) reciprocal cross (D) monohybrid cross

F, 91l Fafd qun STl [0 a1l GugeEst U5 (Se) 9iY o St Heul (SR1E) Wi
FEd @

(A) whE HE (B) foue wi|
(C) =Ih HE (D) THEHR HiH
Or / 37941
The phenotypic ratio, in case of incomplete dominance in Mirabilis jalapa, is
(A) 9:3:3:1 B) 3:1
C) 1:4:6:4:1 DM 1:2:1

frifsferd ST (Mirabilis jalapa) ® 301 SWIEAT @ RO STH ATl A&IOT&Ed!
(BHICrEit) UM 7

A) 9:3:3:1 B) 3:1

C) 1:4:6:4:1 DM 1:2:1

9. Pick the odd one out.

(A) UGA (B) AUG
(C) UAG (D) UAA
Ea (fowmma) fased &1 g

(A) UGA (B) AUG
(C) UAG (D) UAA
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Or / 39a1
Pick the mRNA codon which will pair with the anticodon UCA of tRNA.

(A) GAU (B) AGU
(C) AUG (D) TGT
34 mRNA i &I MU, S tRNA & UCA TisieH (JfdshigH) o a1 I S|
(A) GAU (B) AGU
(C) AUG (D) TGT
10. Which of the following bacteria helps to set milk into yoghurt? 1
(A) Mycobacterium (B) Lactobacillus
(C) Azotobacter (D) Pneumococcus
FfIRgd # 8 HH-|1 G g9 1 Gal H Whicd H H HGEH 87
(A) AT (B) cweladiad
(©) R (D) =ErwFE
Or / 3FYdar
Which of the following is not a product of fermentation?
(A) Bread (B) Acetic acid
(C) Butanol (D) Ligase
freferigd @ & H-w1 v fohvad g e Seg @ 87
(A) =T (sT8) (B) wHifesh et
(C) SeHta IDSEE

11. The special protein present in the root nodules of legume which helps in
nitrogen fixation is

(A) leghaemoglobin (B) nitrogenase

(C) chlorophyll (D) haemoglobin 1
TAE! Ol (ehrd) Wi Sel hl USRI § URm SHeren fafts Wi, SioAsgeH
e § weEs 2, ?

(A) AT (B) sgifort

(C) RIS (D) Erets
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12. Which of the following is an example of an oviparous mammal? 1

(A) Kangaroo (B) Duck-billed platypus
(C) Whale (D) Bat
fafafga 4 @ SF-w S JiETee WU 87
(A) T (B) THiwes WTH
(C) =« (D) =mEg
Or / reran

Endoparasitic flatworm found in the human intestine of an infected person
is

(A) millipede (B) ascaris

(C) tapeworm (D) liver fluke

T HHUA ARH hl ATA H IR FHaTel 3Td: 6l TUekhi 7

(A) Feaud (frefide) (B) UEhi®

(C) hrampfa () (D) e
13. Which of the following is a contractile protein? 1

(A) Keratin (B) Collagen

(C) Trypsin (D) Myosin

frfofiad § & F-m GFIE SR 27

(A) Tt (B) oA

(C) fefem (D) wIEA

14. In C, plants, the initial acceptor of CO, is
(A) Ribulose bisphosphate (RuBP)
(B) Phosphoenolpyruvic acid (PEP)
(C) Oxaloacetic acid (OAA)
(D) Phosphoglyceric acid (PGA) 1

O

[N cer.o.
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15.

16.

C, Wt # Co, W Wl wE 2
(A) TS fewiehe  (RuBP)
(C) Aedctufafes 3w (OAA)

(B) ®IEhIEIIIEEIHh A (PEP)
(D) HIEHIASEH 3T (PGA)

The disease for which bio-engineered vaccine has already been developed is

(A) smallpox
(C) hepatitis B

(B) tetanus

(D) pertussis 1

g W, f9&h Q9 SARRIBERl et @i foaida frm s 91 2, 2

INBEEED
(C) Thamy (FUersfem-d)

The edible part of the coconut is
(A) fleshy thalamus
(C) pericarp

A BT @& 9T 3

(A) TEER qHTE
(C) watufd

Or / 3741

The example of hypanthodium is
(A) Tulsi

(C) Sunflower

BEI-AIfead &1 3 &

(A) gt

(C) =l

314/TUS/106A 10

(B) feea
(D) whreft @t (qSfm)

(B) mesocarp

(D) endosperm 1

(B) wex wat fufa

(D) Yo

(B) Peepal
(D) Euphorbia

(B) duat
(D) Fewifei



SECTION-B
T us—ga

Note : Question Nos. 17 to 28 are objective-type questions carrying 2 marks
each.

8w 99 Ho 17 ¥ 28 d% T=IHH T & YAH Y 2 3ehi I B

17. Fill in the blanks (attempt any two from A to D) : 2

The flowchart given below is a diagrammatic representation of trophic levels
ina _A in an ecosystem :
Fourth trophic level
D
T
Third trophic level
(Carnivore)

T

Second trophic level
C

T

First trophic level
B

fh wm vt (A8 D ¥ 4 fdl @ & 3 afm) .

= e T waE smME (@) TH widd A A % UNU W Ol IWEE
ﬁ'@qﬂT%:
Tqd T TR
D

7
T AN TR
(uTETER)

T
et T =R
C

T

I Y907 &
B
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18. Complete the flowchart with the basic components of the nervous system
(attempt any two from A to D) : 2

| Nervous system |

TET G o ol HEeshi o WY JATE @ i GU HINT (A § D | & ol 1 & IH
difm) -

T

19. Choose the odd one in each of the following : 2
(a) Ovary — Fallopian tube — Ureter — Vagina

() Graafian follicle — Leydig cells — Corpus luteum
frefeiRea Wit & & Yo § fowd/3mTd E@ET H w9 W IW fafen -
(%) IR — FHaMl Afcswn — F[vltl'lﬁ — I

(@) WTHI geoh — ST RIRERTE — HYd Jfead

20. Draw the diagram as given below in your answer-book and label the parts
marked A and B in the following diagram : 2

314/TUS/106A 12 WA TORRERY



= feu T fam @1 st Sw-gfeae § sm s fafed A 9ur B wmi @ A fafaw

B
(@)
A
21. Match the items in Column-I with the suitable items in Column-II : 2
Column-I Column—II
(a) Brush bordered epithelium (i) Lining of air sacs in lungs
(b) Squamous epithelium (ii) Lining of trachea

(iii) Lining of stomach

(iv) Lining of intestine

Hiem-1 § & T8 wgl 1 agfad e siem-11 6 Tel % @y Hife

Hiem-1 Hiem-I1
(@) S sTEC wdefiferrm (i) BHS b AN B TR
(b) Teehl Iuehell (Tehmd Udtefiferem) (ii) TETEAA I IR

(iti) AT T &R

(iv) AT H IR

22. Fill in the blanks (attempt any two from A to D) : 2

A and _B are two adaptations to promote cross-pollination in
flowers; while _C and _D  are two devices to ensure self-pollination.

s o 9w (A @ D # ¥ fordl @ % W &) -

gt W-TOr Rl ielTied Y 9Tl o ke _ A dul _ B ¥, Sefe _C
A _ D < gieal wwew o giifeed st g
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23. Match the items in Column-I with the suitable items in Column-II : 2

Column-I Column-II
(a) Stilt root (i) Turnip
(b) Fusiform root (i) Banyan

(iii) Sugarcane
(iv) Radish

Hiem-1 H & T8 wgl 1 agfad e wiem-11 § § T8 Ul % @1y Hife

wicTH-1 wicTH-II

() gy (feee) (i) S
(b) THET T (i) ST
(iti) T

(iv) et

24. Many organisms with separate sexes have a pair of specific type of
chromosomes called sex chromosomes. In humans, _ A  are responsible
for homogametic female, and _ B  are responsible for heterogametic
male.

In birds, it is C  for females and _ D for male chromosomes.
(Attempt any two from the above blanks A to D). 2

3 Thierft (faem fomr) Sl & e fafie yor & ToREl & Siei i fom-faafor #
T oftremr Bt 8 RS2 fom R (f9w sHE) wEd €| uMd A, A guyest
el & fou sateeht €, e _ B fawmymsht W% forw swerRt 2

uferi §, _C_ for1 Torga wier < fgio qean D fo o W % fgion @ fow
IErR Bl (SWRk Tk wMi A ¥ D ¥ & frdl @t & 3IW i)

25. Fill in the blanks with suitable words (attempt any two from A to D) : 2

The secretion of milk from the mammary glands is called _A . The first
secretion that comes from the mammary glands of the mother is called

B . The synthesis of milk from the mammary glands is stimulated by
the hormone __C  which is secreted by the anterior lobe of the pituitary
gland. Another hormone __ D  is secreted by the posterior lobe of the
pituitary gland, which stimulates the release of milk from the mammary
glands.
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30k veal @ ik W i (A @ D # @ f5dl @ % sw dfvm) -

W TR ¥ U I et A hEdrdl gl AT i WA IR § e aren ggen
TU _B g 2| WA U@ gy o gveme _C e g g 3gdifud i
7, Ty waw dom (fresedl) wfy 1 smreft g & 81 & 3= gmA, _ D W
Faur frespedt & uvadtelt ¥ dar 8 S W ufRl @ gy frehew i ufskan @ 3edifta

HT B

26. In the Column-I of the following table, recipient blood groups are given. For
safe transfusion, fill in the boxes of Column-II with the correct

donor in each case (attempt any two from (a) to (d)) : 2

Column-I Column-II

( Those who can ( Donor )

safely receive blood

of donor )

() B;AB (@)

(i) AB;A (b)

(i) AB (c)

(iv) O; A; B; AB | (d)

=g & 78 arfete & -1 § AT ¥ TF UH hH 91 Th 91 e U | hiaE-Il
T g &1 gifad wh ot fafEul (@) @ (d) 3 R @ % 3w @fw) -

wica-1 w11
(I gl sw & | (Q@T A
TR HT T W L | GUed ®h oA )

Hehd 8 )
(i) B;AB (@
(i) AB;A (b)
(i) AB (c)

(iv) O; A; B; AB| (d)
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27. Given below are the interactions between two species. Identify the two
wrong statements for interactions from the following : 2

(a) Both the species cannot survive without the other is called mutualism.

(b) Penicillium secretes antibiotics which inhibit the growth of bacteria.
This interaction is known as predation.

c) When one species is benefitted and the other is harmed, is known as
p
parasitism.

(d) One species is benefitted and the other is unharmed or neutral. This
interaction is known as commensalism.

T ST W S S SRIRAGRATG A9 & T 8| ElRad ®weHl § ¥ | o el
* Tgae foiflau, S EE YR 1 e TE e §

(%) GHI STl Th-gaL o ToT Sfifod &1 @ Hehdll, 38 HRITehINT (RA3SH) Hed
g

(@) uffafem gfosifas arfad tar 2, S Siamvget 6 Jfg * Seid &1 &l I8
FAATSHAT &0 ShEadTd! 2l

() & Th AT AT Bl ¥ qUT gE I B Bl 8, A 3§ Welfar sad &
() & Teh FAMd hl A9 AT & aGT gEil AIId a1 qeel T&dl |, af 39 ggwitdr

ed &l
28. Identify the type of inflorescence of the diagram given below : 2

Wi ep

e

(<)}
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H= feu 7w fo § qoIEE W YR @l UEETMU

SECTION-C
Eus—1

Note : Question Nos. 29 to 37 are very short answer-type questions carrying
2 marks each.

e U o 29 4 37 d% A GIAH-ITT T | YAH YT 2 3kl I 2l

29. Write the main functions of B-cells and T-cells in the immune system. 2
gfeRem @ H B-hIRERIST qem T-hifdreial o eI Jorl fafau|
Or / 37941

Differentiate actively acquired immunity from passively acquired immunity.

qisha ®9 § (Ffshad:) 3urtsia gfawer o Ffsea &1 @ (Rfspaa:) sosa afoen 7 favse
ik

30. Name the two diseases caused by the deficiency of protein or carbohydrate or
both in the diet of a child. Also list any two characteristic symptoms of
any one deficiency disease. 2

Bt (s=i) & MER # WA A1 HEREge AT El b AWE H B Al @
FUNUS A o6 AW fafau) 3 @ fRdt vk I o @1 i K g ot sEmu)

314/TUS/106A 17 [N cer.o.



31. What are meristems? Write the location of the following meristems in the
plant : 2

(a) Apical meristem

(b) Lateral meristem

oo @ g7 W9 # fefafea fawsaae 6 saferfa fafe
() ey fowsiias

(@) e favsaas

Or / HYal

What are the main functions of the muscular tissue? Where are the following
muscles located?

(a) Striated muscles

(b) Unstriated muscles

Usfig Sl & Tg@ wE @ 87 FEfdiad Ui Sae el FEfeya g 8
(%) Waga ufmr

(@) 3nfga ufemf

32. Draw a diagrammatic structure of an antibody, and label the specific
antigen-binding site. 2

T Tfdfis i s=qT 1 3Mfgd o7 sAme qun fofivw tde-aue e & Jmifed
S

33. Write any four functions of proteins in our body. 2
AR IR § UM & iz IR ThE foaf@u|

Or / 3741

What are vitamins? Vitamins are grouped into two classes. Name them and
give one example of each.

foerfm s €7 faerfiei &6t @ ot & &t w81 e AW foTee U H UR-UR
3erew fefEu)
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34. (a) What types of roots are found in plants growing in marshy areas?

(b) Write the name of the tissue present in the aerial roots of epiphytes,
which help in the absorption of moisture from the atmosphere. 2

(%) 3G g H IW A bl h FS fRE THR H BT 27

(@) AfodTey &t aREE TS U S 9 SHas w1 A fdfge, S aEed @
& ENY H HEES 2

Or / JFYdar

How will you distinguish between the vascular bundles of a dicot root and
a dicot stem?

foreht faafiarosft @a i S5 % waedl qa (Faed agdt) aun fgeiere & % gasd I &
o= T e fave e

35. Draw a neat and labelled diagram of a mushroom. 2

$HWTT H W qdql AHifhd o F413T)

36. With the help of a suitable example, explain the alternation of generations
in bryophytes. 2

Tgfad 3eTetl i TRl ¥ SRIGES H il Ushiawr i @men i

37. Define the following terms : 2
(a) Population
(b) Adaptation
fr=faRea el & afamn fafaw -
(%) @iy

(@) TR

O

[N cer.o.
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SECTION-D
Qus—Y

Note : Question Nos. 38 to 41 are short answer-type questions carrying 3 marks
each.

fRw : w9 Ho 38 ¥ 41 WY I T § qAT YIS Y 3 7RI HI 2

38. With the help of diagrams, briefly explain the following types of
placentations found in the angiosperms. Give one suitable example in each
case : 3

(a) Marginal
(b) Axile
(c) Parietal

3@ I FEREA H AEAsst H 9C IH A FEIREd TR % SeeaE 6 diem
T HIT qAT I 1 Uk agfad g ot S

Or / HYal

With the help of diagrams, briefly explain the three types of cymose
inflorescence, with one suitable example in each case.

@[ I TEHAl ¥ @ ThR o FEEIET qIhAI i HiEH AT, Y% o Uk dgiad
IR & 91 hifdg)

39. What do you understand by the term ‘double fertilization’? Briefly explain
the process and the end products formed. 3

‘T T (fefim=m)’ soe @ 319 = gueid 87 39 TshH ohl HIATH SATEAT Shilslu quT
T 9Tl TG i FH SET

314/TUS/106A 20 WA TORRERY



40. A cross was made between a tall pea plant with red flowers (TTRR) and a
dwarf pea plant with white flowers (ttrr). Work out the cross up to
F, generation. Write the phenotypic ratio of F, generation. 3

@S T AA § (TTRR) ITel 7L & Teh WY H1 & AT The I (ttrr) el Y
1Y FHWT HUAT T1| hiF I F, TEl de s8¢ a1 F, 9 o1 Aoy (FiHerRET)

JAguTa ferfag|

41. (a) Write the differences between blood and lymph.

(b) With the help of flowchart, only show the route of blood flow and
lymph flow in the human body. 3

(%) T aUT TRl & = 3@ fafeay)
(@) YaTg = sl Tl ¥ U b IR H haol SR qUT @ 1 Jag AW Jeiia
i)
Or / 374l

(a) Write the names of any two immunodeficiency disorders and give the
cause of the disease.

(b) Name the two major types of lymphocytes. State where they develop
and mature.

(%) Topgl qt IfcReaT=aar (SRESTRREE) fohii & 9 fo@et 3 faer & Hror o

fetfam)
(@) § Ig@ TR hl TEHHT] HiFEmsT & 1 fAfew| sugmse 6 3 waf fowtaa w
aftus Bt 2
SECTION-E
wWUg-F

Note : Question Nos. 42 and 43 are long answer-type questions carrying 5 marks
each.

o . T 9o 42 TUT 43 EH-ITT TH & U7 TAH T 5 Il HI B

42. (a) Draw a neat diagram of a double-helical structure of DNA and label
the main components.
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43.

314/TUS/106A 22 WA TORRERY

(b)

(@)

(b)

(@)
(b)
(c)
(%)
(@)

()

Distinguish between nucleoside and nucleotide.

T (DNA) Tl Sl FUSelt TLEAT &1 Fa TR 38 &I 79l bl AHITohd
EAIEI

fFeEEEe qUl Jaeaese § AW WY Hiv
Or / 39a1
Fertilization, ovulation and implantation are the technical terms

used to describe the reproductive events in a human female.
(i) Place them in correct sequence.

(ii) Define each of them.

Describe the surgical methods of birth control in human males and
females.

=, rvgicat qen STvetdu qHE Aiel (Hft) § S giteedIsh o 9via & § W
B O dehiehl Tee 2

(i) 3= & IIHA ° Wav
(ii) S i ufeamT fafen)
aHe W (YY) ad1 Jren (B § mifmyus seafalm @ avi fife)

Mention the end products of the light reaction in photosynthesis.
Draw the diagrammatic representation of the Calvin cycle.

What is photorespiration?

ThIRT-GTATT Sl Teh1e1 (S1H) IAIThaT & el & M faRgu)
hicad =6 1 ARG Fequr il

YHWI-¥a8H (photorespiration) ¥ 87



Or / FYdar

(a) What is a reflex action?

(b) Write one suitable example of each of the following :
(i) Simple reflex action

(ii) Conditioned reflex action

(c) With the help of a neat and labelled diagram, show the nerve
pathways involved in a simple reflex action.

(%) ufqad foram @M 77

(@) F=faRea & @ g *1 v wgfua e fafeae
(i) T Ufqad e
(i) WTIRent Wfdad foRa

() Th WS qUT AMIehd o sl TEEar & fhel @t Ufdad fspam o dfept 9o &1
Frequr Shifs)

* ok ok

314/TUS/106A [24V—800x3) 23 TR RE AT DA



